

NAME: Opata Clinton Chikwulubem

MATRIC NUMBER: 19/ENGG09/019

DEPT.: AERONAUTICAL & ASTRONAUTICAL ENGINEERING

COURSE CODE: MAT101

Assignment for Dr. Ojelami's Group

(1) find the limit of the function $(4x^2 - \sin x)/x^3$
as $x \rightarrow 0$

Solution

Given $\frac{4x^2 - \sin x}{x^3}$, by direct substitution as x tends to 0, we have:

$$\frac{4(0) - \sin 0}{0^3} = \frac{0 - 0}{0} = \frac{0}{0} = \text{undefined.}$$

Using L'Hopital's rule!

$$\lim_{x \rightarrow 0} \left(\frac{4x^2 - \sin x}{x^3} \right) = \frac{8x - \cos x}{3x^2} = \frac{8x - \cos x}{3x^2}$$

i.e. by differentiating:

$$\therefore \lim_{x \rightarrow 0} \left(\frac{f(x) - f(0)}{g(x)^2} \right) = \frac{0 - 1}{0} = \frac{-1}{0} = \text{undefiniert}$$

\therefore by further differentiation!

$$\frac{f(x) - f(0)}{g(x)^2} = \frac{f - (-\sin x)}{6x} = \frac{f + \sin x}{6x}$$

$$\therefore \lim_{x \rightarrow 0} \left(\frac{f + \sin x}{6x} \right) = \frac{f + \sin 0}{6(0)} = \text{undefiniert}$$

by further differentiation,

$$\frac{f + \sin x}{6x} = \frac{\cos x}{6}$$

$$\lim_{x \rightarrow 0} = \left(\frac{\cos 0}{6} \right) = \frac{1}{6} \text{ ans!}$$

Q) If $y = (9x^2 \cos 8x) / e^{3x}$, find the derivative of y with respect to x .

solution

$$\text{Given } y = \frac{9x^2 \cos 8x}{e^{3x}}$$

$$\text{let } u = 9x^2, \frac{du}{dx} = 18x$$

$$v = \cos 8x, \frac{dv}{dx} = -8 \sin 8x$$

$$w = e^{3x}, \frac{dw}{dx} = 3e^{3x}$$

$$\frac{dy}{dx} = \frac{1}{w} \left(u \frac{dv}{dx} + v \frac{du}{dx} - \frac{dw}{dx} \right)$$

$$\therefore \frac{dy}{dx} = \frac{1}{e^{3x}} \left(\frac{1}{9x^2} \times 18x \times (-8 \sin 8x) + \cos 8x \times 18x - 3e^{3x} \right)$$

$$\frac{dy}{dx} = \frac{1}{e^{3x}} \left(\frac{2}{x} - \frac{8 \sin 8x}{\cos 8x} - 3 \right)$$

$$\frac{dy}{dx} = \frac{1}{e^{3x}} \left(\frac{2}{x} - 8 \tan 8x - 3 \right) \text{ ans.}$$

(3) If $y = \cos(5x^2 + 6x)$ find $\frac{dy}{dx}$

solution

Given $y = \cos(5x^2 + 6x)$

Let $u = 5x^2 + 6x$

$$\therefore \frac{du}{dx} = 10x + 6$$

$$\therefore y = \cos u$$

$$\frac{dy}{du} = -\sin u$$

$$\frac{dy}{dx} = \frac{du}{dx} \times \frac{dy}{du} = (10x + 6) \times -\sin u$$

$$\frac{dy}{dx} = -\sin u \times (10x + 6)$$

$$\frac{dy}{dx} = -\sin u (10x + 6), \text{ but } u = 5x^2 + 6x$$

$$\therefore \frac{dy}{dx} = -\sin(5x^2 + 6x) (10x + 6) \text{ ans.}$$

H) find the integral of the following

$$a) \int \frac{3}{4x+1} dx$$

Solution

$$\int \frac{3}{4x+1} dx \quad \cdot \quad \text{let } u = 4x+1, \quad \frac{du}{dx} = 4$$

$$\therefore dx = \frac{du}{4}$$

$$\text{but } x = \frac{u-1}{4}$$

$$\int \frac{du}{4} \times 3 \times \frac{1}{4x+1} = \int \frac{3 du}{4(4x+1)}$$

$$\therefore \frac{3}{4} \int \frac{du}{4x+1} = \frac{3}{4} \int \frac{du}{u} = \frac{3}{4} \times \frac{2}{u} + C$$

by final simplification,

$$\frac{3}{2(4x+1)} + C$$

ans.

b) $\int x$

$$\int \frac{x}{x^2+49}$$

solution

$$\int \frac{x}{x^2+49} = \int \frac{dx}{x^2+7^2}$$

$$x = 7 \tan \theta$$

$$\frac{dx}{d\theta} = 7 \sec^2 \theta, \quad dx = 7 \sec^2 \theta d\theta$$

$$x^2 + 7^2 = 7 \tan^2 \theta + 7^2 = 7^2 (\tan^2 \theta + 1)$$

factorizing after substituting

$$\int \frac{7 \sec^2 \theta d\theta}{7^2 \sec^2 \theta} = \int \frac{d\theta}{7} = \frac{1}{7} \int d\theta = \frac{1}{7} \theta + C$$

$$\text{but } \theta = \tan^{-1} \frac{x}{7}$$

$$= \frac{1}{7} \tan^{-1} \frac{x}{7} + C$$

ans

$$(c) \int (e^{6x} + 9x^3 - \sin 7x + \cos 8x) dx$$

solution

$$\int e^{6x} + 9x^3 - \sin 7x + \cos 8x dx$$
$$= \frac{1}{6} e^{6x} + \frac{9x^4}{4} + \frac{1}{7} \cos 7x + \frac{1}{8} \sin 8x + C$$

ans.

$$d) \int x \sqrt{9+x^2} dx$$

solution

$$\int x \sqrt{9+x^2} dx$$

let $u = 9+x^2$, $x = \sqrt{u-9}$

$$\frac{du}{dx} = 2x \therefore dx = \frac{du}{2x}$$

from $\int x \sqrt{9+x^2} dx$ substituting

$$\int x u^{1/2} \frac{du}{2x}$$

$$\int (\sqrt{u-9}) u^{1/2} \frac{du}{2x} = \int \frac{1}{2} u^{1/2} du$$

$$= \frac{1}{2} \int u^{1/2} du, \text{ integrating}$$

$$= \frac{1}{2} \left(\frac{u^{3/2}}{3/2} \right) = \frac{1}{2} \times \frac{2u^{3/2}}{3} = \frac{1}{3} u^{3/2}$$

ans.